g s | e
= g :
& © 107 e ff et
% 5 F j[ ; :
10211l
107
° . .9100%_....!...!...l....l....!....
T r = . i i
04 r 04 r
i i
09232 1 0 1 2 3 09232 a1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
[—=— DQM_VUOUI_RUUOUOOU0UI__Global_CMSSW_X_Y_Z__allNODNNZ
—— DQM_V0001-R000000001_Global _CMSSW_X_Y~Z all2
—— DQM_V0001_R000000001_Global _CMSSW_X_Y_Z all75
—— DOM_V0001 R000000001__Global_ _CMSSW X Y Z all7
= g [
2 =
::? o
-1 (o]
% 10 -6/
1072
.910\—1%_....|. .i...i | ..i.... .910\—1%_....i ..i...l....i....l....
g r : : 1 : % r :
4 r 4 [
- -
R 1 2 3 09535 1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
~ e
o
"
o
e
5
107t
1072
o J..u;)_' L
IS r
4 r
-
R 1 2 3

TP n (PCA- to beamline)



	Contents
	Page 1


